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EDLS_UTC_019_000 2.4.2.3 Disable user input | Trigger =[O0 AR&AF & | EDLS_UTC_019_000 Trigger in (SBFlags>>NB&1==0)&&

S/B flagg &L}
(SBFlags>>KS&1==0)

EDLS_UTC_020_000 2.4.2.4 Initializel Trigger &|0f AFEX} 4=
S/B flag2 7iLCt. EDLS_UTC_020_000 Trigger in (SBFlags>>NB&1==1)&&
EDLS_UTC_020_001 2.4.2 .4 Initializel Trigger &£|0{ PQOj| E}O|H (SBFlags>>KS&1==1)
ZEMNAE APKotCt.
| EDLS_UTC_020_001 fn==Timer PQManager.find(fn)<0
EDLS_UTC_021_000 2.4.2.5 Self terminate PQO| Al Authorize ZZA
AE AFH|BHC} EDLS_UTC_021_000 fn==Auth PQManger.find(fn)<0
EEre—————
— __."’ ,’-“'o"' v '&"0 !

e

="'==-’~*!=assert EDLS UTC 019 000", IBitGet(SBFlags,KS+MASK)&& |B|tGet(SBF|ags DB{MASK))

SBF lags, fDB + MASK ) R

(
M
asser t( "EDLS_UTC_020_000", BitGet(SBFlags, KS + MASK) 8&& ﬁﬁﬁﬁﬁﬁﬁ
1 \
asser t( "EDLS_UTC_020_001", !PQ—>find(timer,NULL,NULL)),-g. P’ ‘
(

asser t("EDLS_UTC_021_000", !PQ->find(authorize,NULL,NULL));



int assert(char *msg, int val){
if (lval){
gotoxy(0, 22);
printf(msg);

}

return !lval;
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while (!GetAsyncKeyState(VK_ESCAPE)){
t|me(&ts) = SPNESy
//Ei E—|E_|.o| At||
time(&te) [1E5E &
timelapse = te - ts; //H|1I
if (timelapse < TICK && timelapse >= 0)
Sleep(TICK - timelapse); //EH
else
print f( "Wn##H#HH#HHruntime calculation error##HHH##N") ;
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